
625 SC 2002 <2002><EU><870329>
INSTRUMENTS / LOCK SYSTEM

401

Pos Part Number Description Additional Text Quantity

1* 58314060000 SPEEDOMET.BRACKET M.A.E. 2002 1.00

2* 58314033100 FLASHER BRACKET 2002 EXC EU+AUS 1.00

3* 0021050003 washer DIN 9021 A - 5.3 2.00

4* 0985050003 Self locking nut DIN 985 M5 2.00

5* 58214069051 rubber grommet 16x10.8x3 2.00

6* 58314069100 SPEEDOMETER KM/H F. 21'' 0 625 SC 1.00

6* 58314069400 SPEEDOMETER KM/H F. 17'' 0 625 SC SUPERMOTO 1.00

6* 58314069300 SPEEDOMETER MPH F. 21'' 0 625 SC 0.00

6* 58314069500 SPEEDOMETER MPH F. 17" 02 625 SC SUPERMOTO 0.00

7 58314069151 CABLE FOR SIGMA 500 '98 1.00

8 55011022100 CLAMP D=6/8MM, BLACK 3.00

10* 58314069152 BRACKET F. TRIGGER SC-SM 02 625 SC SUPERMOTO 1.00

11 50314069050 MAGNET FOR DIGITALSPEEDOM.2000 625 SC 1.00

12 0471009104 CIRCLIP DIN0471- 9X1 INOX 625 SC 1.00



13* 58214069050 SENSOR MAGNET ADVENTURE 01 625 SC SUPERMOTO 1.00

14* 0799070000 TAB WASHER DIN6799-RS 7,0 625 SC SUPERMOTO 1.00

15 58011021300 H.BEAM INDICATOR LIGHT BLUE'98 EXC EU+AUS 1.00

16 58011024300 FLASHER INDICAT.LIGHT GREEN'98 EXC EU+AUS 1.00

17* 0014060253 HH COLLAR SCREW M 6X25 WS=8 2.00

18* 58314069155 ADAPT.CABLE SPEEDOM. M.A.E. 02 1.00

19* 31008060000 rubber grommet D=8mm open 2.00

20* 0934080003 Hexagon nut DIN934 M8 1.00

21* 58314060050 spacer bushing for speedometer 2.00

25* 58314069350 * BRACKET TRIPMASTER SWITCH 02 ADAPTER LIGHT SWITCH
- EU

0.00

26* 58314068000 BATTERY F. SPEEDOM. M.A.E. 02 TYPE CR 2430 0.00

27* 58314069200 TRIPMASTER-SWITCH DIGI-SPEEDO. 0.00

28* 0963040203 FLAT HEAD SCREW DIN0963-M 4X20 0.00
* = New part


